Efficiency vs P,

- 0.2 T T
ERURT: S - - S—
> F : : :

2 0.16F----rmrieeeeeeeees e e
9] F : : :

0.14----wrmmieemeenees P ARRREERAR R

0.12f--frrererimmeennns ------------ ------------

EeTTICI
T

7 20— S —
0.08f e ------------------------
T S S | R
0.04F b feviienennn 4 Jr S SR
0.02 — 1 Typpt ++ H o1 | A

Ratio

[y
TTTT] T T
s
A,

X
v
A
X
<"

o
©
a

=

o
iN

=

10 . Gedf’

—=— DQM_mKFIt_T1original
—e— DQM_mkFit_TT_pL
—— DQM_mKFit_TT_pLW
—— DOQM_mkFit_TT pLW_IMP

= 0.2
4 E : : : : :
2,018 T oy U
8 o : : : : :
L S S S
(8] L . . . . .
£0.14 1 R S A P
o : : : :

0.12F{ " A A
5.3, S U TS SR St
0.08{-"" """" j[ """

0.06)
0.04
0.02

Vel

..........................................

IIIIIIIIIIII
N
2
&
—a—
=

Ratio

o
©
Tal
Q[T
|
N
|
N
o —————
N
N
w

Efficiency vs ¢

s 0.1
4
20.09
2
) 0.08]
(S}
£0.07
(]
0.06]
0.05
0.04
0.03]
0.02

...............................................

.............................................

L LA L SR DR B ILRRE RRRRN R

0.0 -} -4+
AL N
LT 7

Ratio

||'-||||

TP @



	Contents
	Page 1


